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Part | {80 marke)

Foreach quéstion from 1 to 30, four options are given. One of them is the correct
answer. Make your cholce (1, 2, 3 or 4). Shade the correct oval (1, 2, 3 or 4] on
the Optlcal AmwerSheet.

1. Patrick put 10 goldfish in a fish tank and fed themeveryday The graph below
shows the number of goldfish in the tank over the next few months.

Numbell of goldfish

25

Jan

The graph shows that living things

1) grow

2}  reprodu
3) respord to changes
4) need alr, food and water

Lo

Y
Fab

Mex  Apr

* Month

2. Thetable belowshows Information about 2 animals, Xand Y.

Animal Numiber of lal Mathod of reproduction
0]12]4 Lays eggs Glves birth
X v v
Y v Y

' What outer coverings do animals X and Y most likely have?

Anfmal X

Shell

{Go on to ihe next page)



3. Below is a plcture of an iron.

Bottom -
of fron

Wire covering

. Which of the following is suitable for making the wire covering and bottom of the

iron?
Bottom of iron Wire covering
1 plastic iron
2) iron___ plastic
3) glass cloth
4) iron wood

4. Which of the following is not correct?

1)
2
3)
4)

System Parts that belong to the system
Circulatory heart, blood, blood vessels
Skelotal skull, ribcage, small intestine
Digestive large intestine, anus, stomach
lungs, nose, windpipe

Respiratory

§. Fourchildren were shown a picture of a human stomach as shown. They made
the following statements about it.

Albert:
Betty:

. Clara*
Dennis:

Saliva is secreted in the stomach.

The stomach is connected to the smafl intestine.

The stomach is partly respansible for food digestior. -
The stomach lies between the anus and large intestine.

Which of the children have given correct statements about the stomach?

1)
2)

Albeit and Belty

Albert and Dennis

3 .BetiyandClara

A-3 . {Go on to the next page)



8. Ethan. Francesca, Gail and Henry each recsived a shide from their teacher to
-obiseive under a microscope They recorded the paris of the cells observed in
the following table. .

_ Parts of cells
| Ethan | Nucleus, cytoplasm

Erankie | Nucleus, cell membrane, cell wall
Gail Cytoplasm, chloropiasts, celiwall
‘| Hallie Cell membrane, nucleus, cytoplasm

Which pupilfs could most likely have observed plant cefls?

1)  Frankie only 3) Frankie and Gail only
2) Ethan and Gail only 4) Ethan and Hatliie only

7. The diagram below shows a typical plant cell.

o 0 0 o) X
0 . y
0 » o} Z
=2

w
Which of the following matches the parts to the functions correctly?

Parts | Function —
1) | Z | Controls substances going in and out of cell
zg W __| Contalns green pigment needed for photosynthesis
3 Y Contains genetic information and éontrols all activities
4) X Most cell activities take place in this jelHike substance

8. Which bulb in the following electric circuits would light up the brightest?

1) 3)

" 2) 4)

A-4 {Goonto the next page)



, .lsaacoonducbedanexpeﬁmemmacirw&testerandsomedmuﬁcards.

i

*51

2y

+R1

Circuit tester

When R1 is connected to R2 and $1'is connecled o 2, thebulb lit up. Which of

, ,ﬂzefo!bssingdmxﬂeerdsdidlsa&me?

1) cardioard 3) mzioa:d
I [
R2 \ R2 \
paper chip paper clip

s2 s2

2) cardlioard 4) e&tdgoa!d
— _i

R2 R2 N

g paper clip - 4 paper clip

§2 s2

10. Study the table below.
HabitatA_ | HabiiatB | HabitatC | HabitatD _

Temperature |  26°C 5°C _38C_ 29°C
Molsture 10% 3% 3% 98%
Sunlight Moderate Plenty Litte Litlle

In which of the above habilats is the earthworm most fikely to be found?

1) HabitatA 38) HasbitatC
2) HabitatB 4} HabitatD

{Go on to the next page)



11. Which of the following animals can be found living in the same community?

C: Mudskipper

A Deer
B: Hermit crab

1) AandB
2) AandD

D: Whale

3) BandC
4) CandD

12. Rachael observed 4 living things, W, X, Y and Z and wrote down the following

statements.

Wfeeds on Y.
Z feeds on W.

Y gets food from X.
Z feads on Y but not X.

Which one of the following classifications is correct?

Prey Predator Prey and. Producer
1) W Z Y X
2) X Y_ W Z
3) Y Z W X

- 4) Z X Y W
13. Study the classification diagram below.
Animals
f . 1
Dragonfly nymph Water spider Dolphin
Crab Great diving beetie Turtle
Animal X

Which one of the following could Animal X be?

1) - Tedpole
2) Moasquito larva

3) Frog
4) Crocodile

{Go on to the next page}



14.

15.

8.

Susan has a papaya tree and 2 apple trees in her garden. Thete are aléo & hen
and 3 chicks. Recently, she found some caterpilara on the leaves of her trees.
There is also a pond in her garden whare water hyacinths, tifapia and carps are
found.

How many populations of organisms are present in Susan’s garden?

1) Five 3) Eight
2) Seven o 4) Elsven

4 children were given 4 pictures of organisms. They were asked which organism
would be able to survive the high temperaturs In the desert. They were also
asked to provide a reason for thelr answer. Below are the picturés of the -
organisms and responses of the 4 children.

(&
Organism A Organism B ] OrgammD
Organism | Reason
Kelly: B It can easily kill its prey with its sharp claws.
Lagy: | C It will hide underground to feed on dead Jeaves.
Mark: D it will fiuff up its feathers fo trap its body.heat.
Nancy: A lthasmonee:g:osedsuvfaceamalmtsearsto!oseheat.

Which of the children is comrect?

1) Kelly 3) Mark
2) Lamry 4) Nancy

The diagram below shows 3 magnets.

T @ TR

a1 % B S VY. v J—_—

What are the poles marked P and R?

'. P Q R
1}{___ Noth pole ___Noith pols North pole
3) Souﬂ'tpole SOUtbpole _North pole
4) SOUihpoh Notth pols South pole

A-7 , {Go on to the next page)



17. Which of the following Is matched wrongly?

o

only | only

1

2|
balloon

3}

A-8 o ) (Go on to th next page}



18. A 7-cm spring was streiched when different weights wware hung from it. The
extenslons of the spring were recarded in the table balow.

Welgitlg) 0 ] 20 ] 30 ] 50
oslonfem) | 2 | 4 [ 6 |10

Whatmuldbeﬁwto&ﬂemﬂtﬁﬂﬁwmwhenaMmmhmmgonﬂ?

1 8cm 3) 15cm
2) 13om 4 17oam

19. Faris studled Animal X which ats upon hatching. He cbserved the amount of
jood consumed during the different siages of s lifs cycle. He plotted his
observetion in the graph below.

Amount of foed
oaTumod
s
; w
a R T ] > Tie

Which of the following statemeants based on the graph ara frue?

A:  Animai X has 4 stages i its [ifo cycle.

"B: Point Q shows wiien the young of Animal X has hatched.

C: Line UVshows when the young of Animat X becomes an aduit,
" Bi Line RS shows the pupa stags of Animal X,

1) AandB only . .3 B,CendDonly
2) AesndConly - 49y ABCandD

A-8 {Bo on to the next pege)



20. Three plants, F, G and H wers planted on a piece of land as shown in Diagram

21,

M. Diagram N shows the same piece of land a few years later.

- Diagram M

Based on the above diagrams, which of the following characteristics are correctly
matched to the fruits or seeds of Plants F, G and H?

F G H
1) light _ _hooks fibrous husk
2)| __fibrous husk wing-ike gfructure edible
3) edible wigg-like structure podike
4) fibraus husk hooks pod-ike

Pete was glven 2 kinds of liquid, R and S. Hefilled a bucket with 500mf of liquid
R and another with 1000ml of liquid S. He then hung them on a balance rod, The
diagram below shows the result he observed.

fa

(g — UquidR

Which of the following statements i is true if equal volumes of iquid R and Iimnd S

are compared?

. Liquid R will have more mass than liquid S,
2; Liquid R will have lesser mass-than liquid S.
3) Liquid R will occupy less space than Equid S.
4)  Liquld R will occupy more space than figuld S.

A-10 - (Go on to the next page)



22. Study the flow chart below carefully.

Iska

Yos

How many of the items In the table ahove can be placed at B?

1) 1 3) 3
2 2 4) 4
23. Study the table below carefully.
Substance A - Substance B Substance C

| Weliing paint 35°C ~10°C _ 45°C

Bolilirig point 120°C 60°C 23°C
Which of the following correctly shows the states of Substances A, B and C at
30°C?

_A_ —_ B c

1) solid _g8s8 liquid
2} solid _liquid _gas
3) [ Wqud liguid solid
4) Jdquid - soid __gas

A-11
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' 24. Judy meited some ice cubes In a beaker. She left the beaker in the Science
room for 90 minutes. She plotted a graph to show her results. Which of the

25.

following graphs did she plot?
0 ¢ 3) 4
5 3
: :
3 g
2 1
g :
sk s
o Time {min) 0 Time (min)
2) A 4) r 3
9 g
° g
3 3
2 .
% ;
& = .
(A Time (min) 0 Time (min)

Muthu conducted an experiment with 3 identical containers one day. He poured
250 ml of water into each container and recorded the amount of water left in the

table below.
Containars | Location of container Amount of water left (ml)
A Sclence room 158
B Open field 100
C - Refrigerator 226

Which of the following correctly shows the aim of Muthu's experiment and the

constant variable?

_Alm ofexpeﬂment Constant variable
| st amoutt o i conianer | A" vt o
)‘ ;‘:nmth; gw&mﬁ affects the Duration of experimen_tﬂ
3) ;: ﬁ?mge oouft : temperature of surroundings affects | b - tion of experiment |
e e oo | Shapo ofcontanrs

A-12
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28. Lllydroppedafewdropsoﬁodmsoh:ﬁononZ!eaves.aachtakenﬁaranots
of plants, A and B. She the colour changs of the lodine solution on

bothleavesand recorded her observations in the table below. lodine solution

changes from brown to dark blue in the presence of starch.

_Plant Resul -
BT ot s et o

1)

PlantA

N

Subetancs that absorbs
E(T " carbon dioxide

Plant A

A-13 om0 he et page)



27. Zach set up the following experiment. He placed 4 drops of wax in the positions
as shown in the metal ring below. He heated the rings at Position M.

Which of the following shows the correct order of the time taken by the wax to
melt in descending order?

1) WXYZ 3) XYWZ
2) 2ZWYX 4) XWYZ

28. Sammy had accidentally stacked 2 glass cups together. Now, a part of each cup
is stuck together. He wants to separate them.

Which of the following methods should Sammy use?

1)  Putice in cup A and immerse cup B in ice.

2)  Fill cup A with hot water and immerse cup B in hot water.
3) Fill cup A with hot water and imnierse cup B in cold water.
4)  Fill cup A with cold water and immerse cup B in hot water.

A-14 {Go on to the next page)



29. Yanti cast a shadow of an apple on a screen.

30.

Which of the following actions would definitely increase the size of the shadow?

“Distance A

Distance B -

11 Increaseby 15 cm

Dectease by 5 cm

2)| .Increase by 10 cm

Increase 10 cm

3) | Decrease by 15 cm

Increase by 5 cm

4) | Decreaseby 15 cm

Decrease by 15 cm

Ryan threw a basketball from the second storey of a bullding. The second storey
is marked X. The ball bounced back as shown in the diagram below.

O\C/P

ground

Which of the following describes the changes in the energy from C to D?

Kinefic enorgy | Potential enargy |

1) increases

decreases

2) increases
3);  decreases

increases

End of Bookiet A
A-15
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Answer all the following questions.
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31. Jeremy set up an experiment as shown below. He poured the same amount of
oll onto each material. Oil was then collected in each container. The matetials -
were of similar mass and size.

Material A

Set-up A

——— Material B

Set-up B

Material C

Set-up C

Material D

Set-up D

He recorded the mass of the materials at the end of the expenment and
tabulated the results in the table below.

“Set-ups | Amount of ofl poured (ml) | Mass of material {g) |
R B . 55
B 50 35
c 50 14
D 50 42

a) - Name the apparatus which Jereny could have used to collect the data. ~ [1]

b} Which material is most useful as a rag in the kitchen? Explain your answer. {1]

2

(Go on to the next page)




32. The graph be the amount of digested and undigested foed in organs,
P, Q Rand §, digestive tract after some food is consumed. P, Q, R and' S
arein sequence
Mﬁifit of food Key

Digested foad
7
[ Undigested food
Food .
conswned
P —

a) What is organ Q likely to be? 1]

b) Give 2 reasons why the graph for organ T is incorrect. 2]

G) On the graph below, draw the correct bar graph to show the fype and amount

of food in Organ T of the digestive tract.

Amoxlmt of food
4

7 1

]

 Key
Digested food

4

{Go on to the next page)




33. The diagram below shows Peter’s breathing rate over a period of time.

Bresthing
rate

: »Time (mins)
0 4 8 12 168 20 24 28 32 38 40 44 48 (mins)

a) What could Peter be doing to cause the change in his breathing rate between
20™ and 32™ minutes? _ [1]

b) Explain why his breathing rate was greater while he was doing the activity in part

"

B-4 -{Go on to the next page)



34. Look at the circuit diagram below.

There are 4 similar bulbs, A, B, C and D in the ciroui;._

Below are 4 statements based on the above cireuit.
Put a tick (v) to indicate if each state is true or false. [2]

Statements True | False

(i) |Bulb Cis dimmer than Bulb D.

(i) | Bulb D will not light up if $1 is open.

(iii) | Bulbs Band C will have equal brightness.

() | Bulb A did notlight up.

B-5 | (Go on to the neat paga)



35. Study the food web bélow.

b)

<}

F""//
\

;

N

G 77— H-—»

S ———> §

/

How many camivores and omnivores are there in the above food web?  [1]

Carnivore

Omnivore

Based on the above food web, write down the food chainfs that conslst/s of the
least number of organisms.

(1

A few months later, it was discovered that an organism L had migrated into the
community. It preyed on organisms F and C.
Draw organism L in the food web below.

Fe—

Y

G

—

-
»

N

C
_______)K

M

~_..-.__.->s

/

)|

3

(Go on'to the next page)




36. Matthew prepared the set up below.

materials. He sprinkled some iron filings around each rod.

IS e

He carried out the eupeﬁment with 2 metalrods, A and B, mads of different

He concluded that Rod A was an elactromagnet but Rod B was not.”

a) What observation had Matthew made to come to suchra eanclusion? (2]
| _Rods [ Observation
A
B

b) Based on Matthew’s conclusion, name a possible material for rods A and B, {1]

Rods

Possible material

A

B

3.

(Goonbﬁ:ieimtpage)




——-tub of watsr

Shape

UWO el g

a) Steve's taacher told him that 2 of his results were incorrect. Circle the incorrect
results in the table above. _ (1]

b) Exptaln your answer in (a). 21

3

B-8 (Goontothe nedpage)




38. Nanoy studled the lifs cycle of Animal Q. She iecorded the number of days for
eath stage of s i cycle. Her rasuls are shown in the graph below.

" |
L

Nuitnber 8- 1

¥

o
-
¥

}
1 3}

o~
4
}

1
3

N
1
¥

1
]

» Stages

e

male ) fomale

@) How many days does it take for Animal Q to become an adult after the egg has
hatched? 1]

b) The adult male of Animal Q diea soon after K farfiisea the eggs inside the adul
f‘m}ﬂh’ s body. Explain why the sdult feriales generally live longer than the aﬁ:}ﬂ
malg. : ’

B-9 - (Go ofs o the nast pags)



39. Winnie was given a 500 cm® boitle and a basin filled with water to its brim. She
then pushed the botlle downwards fully Into the water.

. 500 cm” bottle downwards

{1

b) Winnle found out that only 470 cm?® of water had spilled out. Explainwhy.  {1]

¢} Winnie then made a hole at Part X of the bottla as shown below.

30 minutes later, she noticed that the water in the basin had dropped. Explaln
how this could have happened, » o 21




40, Sally and her maternal grandfather sufer from Disease X. No one eise In her
hxneﬁateaextmdedmymﬁasmmseasex.ﬂoweva;wmm,

Hiefaiﬂyteebe!owisnisshgﬂ)eabovehformﬁom
a) Represent the above fiformati

1hy shading or colouring the correct keys in the

family tree, Uss the key given bé!ow 21
Key: L
:~] Normal - R Mates b
J mala Dsseaéexswe f’\\ mmmemx -
Normal 8 Female with ) Female suffering
female Disease X gene from Disease X

O [:O

|

oldest middle  youngest

b} How many paternal uncles does Sally have? ' [1]

3

B-11 . (Goon to the nexl ags)




41. Farah wanfed to find out if water plants affoct the amount of carbon dioxide in

She placed the sel-up near the window and sdded a fow drops of fquid M to the

Amount of carbon -, ~ More than
Colour of Liquid M yollow red purple

a) What would the colour of liquld M be at midday? Explain your answer. 2}

b) Whatwould the colour of liquid M if Farah had conducted the expsdment in &
dark room? 1]

B-12 {Go on to tha next page)



42, hvan conducted an expemnénttolmeeﬁgate if fight can pass through 4 sheets
of different risderials, W, X, Y and Z using the se-up below.

tﬁr‘d\T
]

T

X
|
a‘o

cu 10

|

[-—E—-m

The distarnce travelled by the llght was lemrded as 40 om and. lvan concluded
that matersial Z was opaque, _

Hs carried out a similar experiment with 4 different shieels, A, B, C and D, made
of difforent matoridis. The sheets were ammanged in 2 sst-ups, P and Q. The

distance travelled by the light for sach set-up was measured and the results are
shown in the chait below.

40.'-.-.
Distance  30-¢
Hravellad by
light (crm) 20

10T

Q

Set-ups

Based on the above resuiis, Ivan presented his conclusions about the materials

in the table below.
" Doas it allow light to pass through?
A - ] c D
yos not sure no yes
B-13 (G on o the next pags)



a) Given-the 2:set-upshelow, fillin the boxes with A, B, C and D for each set-up to
hoayﬁte matarials were arranged that led to the above results and

2]
torch  torch _
= | | || = | |
Tk > 5 5 3 [leb b b & §
Set-up P \mfer © Set-up Q

b) fvan wants to make a curtain for the changing raom in his shop. Based on the
above resuits, which matétialis should he select? 1]

3

B-14 (Goon to the next page)



43. Pmmuéndﬁwam&mbaMHephmdaimatﬁwmdmnw
%) 2-coniainus mada of wood and slenl, Both conlaliere were tovered with a

- gorteiner

Peter recorded the temperature of alr in both containers and drew the graphs for
the 2 contalners as shown below. :

— Time (min)

a) Peter has Torgotten to label the above graphs,
Lahél the graphs ‘wood' and ‘stee’’ to chow the temperatures recorded In both
contalners. 1]

b) Expldn&edﬁammmmrmemdawmmﬁamodenandm
contalners. V4]

3

B-15 {Snonto the nexi page] -



44. The diagram below shows a round bowl. A matal hall was held at J. When the
hall was relensed, it rolled dewn.

a) Which posifion, K, L or M, Is the highest the metal bafi can reach after it was

released from J7? it
b} Write the energy change of the metal ball after it was released from J. [
g | , Heat
‘ . . enargy
ensrgy. ensrgy 8Rergy
¢} Name theforce/swhich acled on the metal bell (11
End of Bookiot B

B-18
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2015 SA"1 P6 Science Part 2

Suggested Answers (Do not exhaust all possible answers)

i

Wetghmg scale .
Material D. It absorbed the gr-ﬁatest amount of oil.

32a |Gullet

sted food enters the bloodstream

is no digested food in Ordan T, but the
undxgested food in Organ S is transported to Organ T
thus, the:amount of undigested food in Organ T is the

same asthatinOrgan S.

32¢c

&

Food
‘consumed —§——

Answer must be
of same heght

as: undlgestéd
foodin S

P a rR s \1/

33a | Peter was exercising/ running.

33b | He was bresthing in more oxygen as his body needs it
to burn more food into rnore energy.

34a |T,F,T.T

1 Updated on 16 Apr 2015



on No Suggested Answers (Do not exhaust all possible answers)
35a | Carnivore: 4
| Omnivore: 2:
35b N> M
/ ! L, \C — g
35¢ Fe— [ /
AN |
6 T H—— K
N- - > M /
36a |Rod A: There were iron filings on the metal rod.
Rod B: There were noiron filings on the metal rod.
36b |{Rod A: Iran./ Steel./Nickel / Cobalt
Rod B: Any non-magnetic metal (e.g. copper,
aluminium, tinc etc)
37a |To be circled; 0.65,2.0 (Band C resul’ts)
37b B has a’J_a_:ger contact area ac m a‘ alnst water than
ined bod y shape fo reduce water
force agatnst water but B does
38a |16 days (larva + pupa only)
| 38b | The adult female has to look for a suxtab!e ptace to 1ay
______|the (fertilised) eggs
392 | Bottle of airoccupied space.
39b | Air inthe boftle can be compressed.
39¢c | Airin the bottle escaped through the hole and water

B entereé the tﬂé ta take up: ihe Space leﬂz bv the air,

2 Updated on 16.Apr2015




Quest
oii-No.

Suggested Answers (Do not exhaust all possible answers)

40a

@ :

O

O

O

O

|

|

N

40b

eidé_St- )

middle  youngest

413

in‘carbon dioxide in the water

41b

sis as there is light.
Kide in the watar during

| 423

!

T T 1 1
0 10 20 30 -40

= [ ]

aond
-

=15

. ] T
_% o 10 20 30 4 {

Setwp P

1 42b C(+Z) RN

Set-up Q
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Questl

'nggesté‘d Answers (Do not exhaust all possible answers)

""ot.p... .
43a Temperiture (*C) .
4 steel
| wood
+ Time (min)
43b _{1] so more heat
to. the steel
~ temperatiire
wa _,,en ceﬁtamer
| (Acceptable:Gain- Haat faster: Gonduct heat
better/faster. Allow heat to pass through more easily.
Heat travel faster Absorb heat faster. )
44a |L
44b (Gravﬁational) Potential energy > Kinetic energy 2>
fSeunleatent*a energy
44c | Frictional force / Friction

Gravitational force / Gravity

4 . -Updated on 16 Apr 2015




